Worksheet

1. Calculate the following
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Worksheet

2. Calculate the following
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3. The following table gives the prices of fruit in a shop. Calculate the
cost of 1.1kg of apples, 2.4kg of bananas and 3.2kg of oranges.

Apples: £0.80 per kilogram
Bananas: £1.10 per kilogram
Oranges: £1.32 per kilogram
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4. In a school, students must study either French, Spanish or

Mandarin. If 53'6 study Mandarin and g study French, what fraction
of the pupils’ study Spanish?

Total Studeaks = 100% =1
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5. Shown is a rectangle. Find the value of x.
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